SMTEE BFAONF KA b70F07
B3z 28I RFZ 38 4R 678 8A 10R &3
1 HE FE plin- yiN=2 23 25 19 24 91
2 Wi b plinwN=a 14 21 24 19 78
3 I Bl IT&RF 19 17 20 15 71
4 8z IEX TR F 25 21 4 15 65
5 BEH E=—8 TEERF 22 17 25 64
6 HE s ITEERF 17 14 7 23 61
7 EE = bR yiN=a 22 7 15 15 59
8 XS F|A plinwN=a 19 12 10 15 56
9 2R R plin w2 12 11 24 6 53
10 #R K2 Sfipat N 16 14 19 49
11 E2H KA EaRip RN 23 25 48
12 FE BE WTHEREE 15 22 37
13 e BE DRy N2 17 15 4 36
14 i KM WA 13 22 35
14 IFE L KRIRFBRAF 11 18 6 35
16 B HREP Sfipst N 20 11 31
17 Bi% RE Pl A= 10 19 1 30
18 Mol Bz KIRFFTAF 16 11 27
19 KB 5 RS 11 11 4 26
19 ik KE plin yN=2 8 18 26
19 B AL EefiipNe 19 7 26
22 ZR B EaRip RN 25 25
22 S2¥ D plin N2 10 15 25
24 B8 #HKX RRFBRAZ 24 24
24 TR fIKER bRy N 9 15 24
26 Wt KRIRFFRAF 23 23
26 TE EBEE WTHER 22 23
28 g —f& ITEERF 18 4 22
28 EBE K mBRFRF 22 22
28 ME *&H KRFBRKRF 22 22
31 mAi K& EfiipNe 19 19
31 FiL BEE EabiipN=a 19 19
33 AR R KRFBRKF 6 10 16
33 B OEE blin FiNE2 1 15 16
35 WHE Es pliRyiN=d 15 15
35 RAR RHE KIRFFTAF 15 15
37 hi B WA 8 8
37 TE B Sfipat N 7 1 8
39 PR TR KRFBRKF 7 7
39 =W BT TR 7 7
41 A =X Bl FpBRAF 6
41 BAK M plinwN=a 6
43 2l At Sfipar N 5 5
43 BE K= WTHER 4 1 5
45 #H OE— ITEERF 4 4
45 T AR Eafiiper N 4 4
47 HE RK EhiipN=al 3 3
48 \me = Sfip=r N 2
48 bl RE REBKR 2
48 LN =i EafiipNe 2
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